	SYNOPSIS Bid No. 2015-017-6471 Annual Contract for the Purchase of Vaccines	×××××××××××××××××××××××××××××××××××××××	<b>*</b>	Regimed Medical		
	Opening Date: Febuary 9, 2015	XXXX	<b>※</b>	106 Arabian Path St. Peters, Mo 63376 Reginalds V Maclin		
	Contract Period 2/17/15 throught 2/18/16	8	燚	636-240-1515 ph		
	Charles Price Senior Buyer 214.653.6223	X	燚	559-498-6585 fax		
		XX	燚	rmaclin@regimedmedical.		
		XXXXXX	<b>※</b>	Recommended for Award		
Item #	Description	QTY Dosage X	<b>**</b>	Price	Ext	
1	Japanese Encephalitis Vaccine, inactivated, (Ixiaro)	XXXX	<b>※</b>			×
	NDC #42515-0001-01 Prefilled syringe.05ml	i S	QQ'			<b>X</b>
	NDC #0001-01  Dosage1x.05	200 -		\$258.09	\$	51,618.00
	Other Comments:					XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
2	Pneumococcal Vaccine Polyvalent Pneumovax  NDC #4739-00 One 2.5 ml dose vial	8	88			XX
	NDC #4943-00 Ten single dose vials/box	400	<b>**</b>	\$395.19	\$	158,076.00
	NDC #473900 Dosage:1x2.5ml	XXXXX	<b>**</b>			
	COMMENTS	XX	<b>*</b>			<b>X</b>

	SYNOPSIS Bid No. 2015-017-6471 Annual Contract for the Purchase of Vaccines		**	Regimed Medical	
			<b>XX</b>	regimed Medical	
	Opening Date: Febuary 9, 2015		X	106 Arabian Path St. Peters, Mo 63376	
	Contract Period 2/17/15 throught 2/18/16		**	Reginalds V Maclin 636-240-1515 ph	
	Charles Price Senior Buyer 214.653.6223		***	·	
	·		<b>X</b>	559-498-6585 fax	
			**	rmaclin@regimedmedical.	
			**	Recommended for Award	
	NDC #4943-00 Dosage:10x1 dose	400		\$790.43	\$ 316,172.00
	COMMENTS				
					——————————————————————————————————————
3	Chicken Pox Virus Vaccine-Varicella Varivax				<b>※</b>
3	NDC #0006-4827-00 Single dose/10 vials				8
	NDC #4827-00 Dosage:10x1dose	1000		\$1,099.40	\$ 1,099,400.00
	COMMENTS				<b>X</b>
			88		8
4	ActHIB				<b>X</b>
	NDC #4921-545-05 Five single dose vials with diluent				
	NDC #0545-05 Dosage5x1dose	50		\$150.62	\$ 7,531.00
	COMMENTS				××××××××××××××××××××××××××××××××××××××
					- \$
					- 8
				Page 2 of 5	~

Page 2 of 5

	SYNOPSIS Bid No. 2015-017-6471 Annual Contract for the Purchase of Vaccines		***	Regimed Medical	
	Opening Date: Febuary 9, 2015		**	106 Arabian Path St. Peters, Mo 63376 Reginalds V Maclin	
	Contract Period 2/17/15 throught 2/18/16		<b>※</b>	636-240-1515 ph	
	Charles Price Senior Buyer 214.653.6223		**	559-498-6585 fax	
			<b>※</b>	rmaclin@regimedmedical.	
			***	Recommended for Award	
5	Adacel NDC #49281-400-10 Ten single dose vials				<b>※</b>
	NDC #400-15 Five pre-filled syringes	600	**	\$448.91	\$ 269,346.00
	NDC #0400-10// Dosage10x1dose		***		<b>X</b>
	Comments		***		
	NDC #0400-15 Dosage:5x1dose	250		\$224.73	\$ 56,182.50
	Comments				***
6	Gardasil (HPV)  NDC #4045-00 Carton of one 0.5 ml single dose vial  NDC #4045-41 Carton of ten 0.5 single dose vials				33,646.00
	NDC #4045-00 Dosage#1x0.5ml	200		\$168.23	\$ 33,646.00

		:::::::::::::::::::::::::::::::::::::::			99300
SYNOPSIS		<b>X</b>			
Bid No. 2015-017-6471 Annual Contract for the Purchase of Vaccines		<b>X</b>	De sisse d Medical		
the ruichase or vaccines		፠	Regimed Medical		
		<b>X</b> X	106 Arabian Path		
Opening Date: Febuary 9, 2015		<b>X</b> X	St. Peters, Mo 63376		
		XX.	Reginalds V Maclin		
Contract Period 2/17/15 throught 2/18/16		**	636-240-1515 ph		
Charles Price Senior Buyer 214.653.6223		**	559-498-6585 fax		
		<b>X</b>	rmaclin@regimedmedical.		
		<b>X</b>			
		▓	Recommended for Award		
					<b>X</b>
Comments					8
					8
	200	4,54,54	\$1,605.29	\$	321,058.00
NDC #4045-41 Dosage:10x0.5ml		Ó			8
		-88			8
Comments		<b>XX</b>			**************************************
					- 8
Zostavax (ZOSTER)					<b>X</b>
NDC #4963-00 Package of one single dose vial					
NDC #4963-4110 Single dose vials(10)		4,54,14			8
	200		\$199.32	\$	39,864.00
NDC #4963-00_ Dosage:1sdv	200		Ψ100.0 <u>L</u>	Ψ	8
					8
COMMENTS					8
	200		\$1,899.81	\$	379,962.00
NDC #4963-41 Dosage:10x1dose					379,962.00
					<b>※</b>
COMMENTS					<b>X</b>
					——————————————————————————————————————
		-			

7

## **SYNOPSIS**

Bid No. 2015-017-6471 Annual Contract for the Purchase of Vaccines

Opening Date: Febuary 9, 2015

Contract Period 2/17/15 throught 2/18/16

Charles Price Senior Buyer 214.653.6223

8 Measles Mumps & Rubella (MMR)

NDC #0006-4681-00 10 Vial Single Dose .5ml/pk

NDC #4681-00 Dosage:10x1dose

COMMENTS

## **TOTAL**

## **Product on hand**

Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?

Specify the name, telphone number and email address of account rep who will be handeling account

Regimed Medical

106 Arabian Path St. Peters, Mo 63376 Reginalds V Maclin 636-240-1515 ph

559-498-6585 fax

rmaclin@regimedmedical.

Recommended for Award

250

\$628.56 \$ 157,140.00

\$ 2,889,995.50

yes

yes

Reginald Maclin

rmaclin@regimedmedical.com 636.698.9116